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Directions: Choose the one best answer to each question.

Questions 1 through 4 refer to the following
passage. )

Although the Democratic and Republican
parties dominate U.S. politics, many third parties
have arisen over the years. A third party is any
political party other than the two major parties. In
Federalist Paper “No. 10,” James Madison wrote
that in a large country, “you take in a greater
variety of parties and interests; you make it less
probable that a majority of the whole will have a
common motive to invade the rights of other |
citizens”

Third parties often appear when people
believe the major parties are not properly
addressing an important issue. In the mid-1800s,
for example, the Free Soil Party formed to take a
stronger stand against the expansion of slavery.
Many third parties have been single-issue parties
that disappeared when their issue became less
important or was taken up by a major party.

More lasting are ideological third parties that
focus on overall changes rather than on specific
issues. The Libertarian Party, which calls for
drastic reductions in government in order to
increase personal freedom, has run a candidate
in every presidential election since 1972. Other
ideological third parties, such as the Socialist
Party, have even longer histories.

Several third parties have captured Senate
seats and major state offices. In 1998, Reform
Party candidate Jesse Ventura was elected
governor of Minnesota. In addition, third-party
presidential candidates have influenced the
outcome of elections. For example, many political
experts credit Bill Clinton’s victory over President
George Bush in 1992 to the presence of third-
party candidate Ross Perot on the ballot. They
believe that Perot drew enough votes away from
Bush to allow Clinton to become president.

1. What does the passage imply about third
parties in the United States?

) They are dangerous to America.

). Their members do not support them.
) They have been influential in politics.
4) Their issues are not truly important.-

) They contribute nothing to the nation.
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2. Which of the following best summarizes the
third paragraph of the passage?

(1) The Socialist Party is an example of an
ideological third party.

(2) There have been third-party candidates
in all presidential elections since 1972.

(3) Ideological third parties arise when the
major parties aren’t addressing
important issues.

(4) Third parties are in favor of increasing
individual freedom.

(5) ldeological third parties typically live
longer than single-issue parties.

3. What is the most likely reason that large
numbers of voters support third parties and
their candidates?

(1) Americans are increasingly afraid of
taking a stand on political issues.

(2) Third-party candidates are more exciting
than the candidates of the major parties.

(3) Many Americans want to change the
nation to a constitutional monarchy.

(4) Voters feel that the major parties are not
addressing important problems.

(5) Growing numbers of Americans have
become indifferent about politics.

4. Which type of party system would the

United States have if the Libertarian Party
or the Reform Party became a major force
in national politics?

(1) a democracy

(2) a republic

(3) atwo-party system
(4) athird-party system
(5) a multiparty system

Arguments and conclusions that are based
on judgments or opinions are more likely
to contain faulty logic than those that are
based on facts.





